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Question Number : 1 Question Id : 813561641 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

.l ('lB?I _
sm(T)—l-sec T)_

(e

Options :
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Question Number : 2 Question Id : 813561642 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

n
If the coefficients of x° and x'° in the binomial expanston of (3 e i 5) are equal. then n =

A [
(3 + %) Do’ 1”00k 1 HErw MRS DATH0NSE 1 D dod?

Options :
1.« 69

> % 96

5w 66

4.% 99

Question Number : 3 Question Id : 813561643 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

; ; : ar 39
By neglecting x* and higher powers of x. find approximate value of \x% + 64 — Vx? + 27

vt e x arEed 6D, Vil + 64— Vil +27 a308); EZFA0RY RV

Options :

| (- L 2
1 % 234
2. %
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1 ——— 2
432
7
1 ——x?
3 % 32
7
1] ——x?
4 % 42

Question Number : 4 Question Id : 813561644 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

In a bank. the principal increases continuously at the rate of 6% per year. Then the time
required to double 6000 rupees 1s (mn years)

28 EP(oS) 000 B3 6% YD DYDY o DEDBIE . a0 6000 draraben
ﬁgof’.{) THEFAS TH0NR D0DAW (‘rﬁobej:]ﬁbnuﬁ )
Options:

L —
g
> log6
, 3 98
50

?EDgS

50
—Hag 12
4. % 3
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Question Number : 5 Question Id : 813561645 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

The point to which the origin should be shifted so that the equation y* — 6y — 4x + 13 =0

is transformed to the form y? + 4x = 0 s

y2 — 6y — 4x + 13 = 0 508000 2 + Ax = 0 6rH3ne° D8 AT6ITH08S
200t 2 Dok SGL A6 ST’

Options :
1. % 33D

2. ® (_11_1)

4. % (_11 3)

Question Number : 6 Question Id : 813561646 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the equation of the right bisector of the line segment joining the points (3,4) and (—1,2).
(3,4) 208050 (-1,2) Docdoyvidd 80 Barwotans) vo) RROOGRD O “eDEdt0
Options:

1@ 2Xx+y—5=0

5 % 2x—y+5=0
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38 2x+y+5=0

% 2x—¥y=56=8

Question Number : 7 Question Id : 813561647 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Geometrically. theset {z € C: |z — 2 — 2i| = 1} represents

(ZEC: |z-2—2i] =1} DS Docdosnw 5DaD HLA0 I 2D’

Options :

a closed circular disc with center at (—2, —2) and with radius 1
o JT5"0 DF)o. Sodaw (—2,—2) a‘sﬁ“go 1.

a closed circular disc with center at (2, 2) and with radius 1.
Rodyd TS DTyo0. So@dw (2, 2) T %o 1.

a closed circular disc with center at (1, 1) and with radius 0.5 .
Sogsaw (1,1) a‘s.ﬁ“gc 0.5 ©90208 Dodyd JT"s"C DTFyo

a closed circular disc with center at (—1, —1) and with radius 0.5
Sogsdw (—1,—1) Eg%“gc 0.5 00 Dodyd HT5°6 D)o

Question Number : 8 Question Id : 813561648 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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If the probability for A to fail in an exam 15 0.2 and that for B is 0.3. then the probability that

erther A or B fails 1s =

28 008" A B 35_:‘*75%3?.13 &@gaw TN T Rogrdjden HER 0.2 Sdoo 0.3.
e A To° B D0L8" 63000 6 08 Dogrdfd <

Options :
1' i’ D.z

> = 0.4
3. ¢ 0.5

4 % 0.3

Question Number : 9 Question Id : 813561649 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

All the words that can be formed using alphabets A, H, L, U, R are written as in dictionary (no
alphabet 1s repeated). Then the rank of the word RAHUL 1s

AH,L U, R 0 ¢H0rhod (2 o560 28 30 Soff 8.5 TErd) I Desiuwwi
gomzmas &3 :mmmﬁa&b Dot gmagaé‘ 0B\, RAHUL
G20 dws) §8) doth?

Options:
1 % 70

L w71

3.33 ?3
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4w 74

Question Number : 10 Question Id : 813561650 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the eccentricity of an ellipse. if the length of its latus rectum is 4 units and distance
between its vertex and the nearest focus 1s 3/2 units,

T Londw TE 4 AhrIL 20050 A Aol GAGT (o TS e GrED 3/2
ORI BN, &8 YRS &8) oge?

Options :
1

1.«'-/3

Question Number : 11 Question Id : 813561651 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The feet of perpendicular from the point A(1,0,3) to the join of the points B(4,7,1) and €(3,5,3) is

B(4,7,1) SBatw €(3,5,3) &0 ¢85 6 D088 A(1,0,3) Do) Ak Lowean Suodw.

Options :

(5 7 1?)
—_ =, —
1.« 3 3 3

Question Number : 12 Question Id : 813561652 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2

= 2
Solve the equation 3" =254

G T
35 T = 25 — 4" T Hhesnsand e

Options :
—1 only

% —13rgd

2 only

L 2378
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Both —1 and 2
—1 S0baswn 2 Eod&hﬁl

No Solution

4 % O S

Question Number : 13 Question Id : 813561653 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(sin@ + cosech)? (sinf — cosecB)* 2020
Ifg e (Dg) then | (cos8 + secf)? (cos@ —sec8)? 2020| =
(tan 8 + cot 8)? (tanf — cot8)? 2020

(sinf + cosecf)? (sinf — cosec§)? 2020

g € (O,g) 900D, | (cos B + secH)? (cos@ —secB)® 2020| =
(tan@ + cot)? (tan@ — cot8)? 2020

Options :

1.% 1
2 % —1
3.v 0

4 % 2020

Question Number : 14 Question Id : 813561654 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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J1+sinx4+vV1—sinx
| Fr———, -
J 1+sinx—/1—sinx

The derivative of y = Tan™} [ with respect to x 1s equal to

| (P b e
—1 | v 1+sinx+vV1-sinx

y = Tan

] L9000, X d&gvé Y 08 9DSRAD =

J1+4sinx—V/1—sinx

Options :

1.% —1

Question Number : 15 Question Id : 813561655 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

x—4
x4

+a, x<4

fW=y atp . x=4

x—4
|x — 4]

+b, x>4

If f(x) given above is continuous at x = 4. then find the values of ‘a’ and *b".

2R trad f(x) 8 Qﬁsﬂ@@é Da0DhAw x =4 :Jcéﬁ wmbélmcmé ‘@, b R 3w,
Options :

1.4
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a=-—1, b=-1

Question Number : 16 Question Id : 813561656 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Let the equation of the curve passing through the poimt (0, 1) be given by y = J Y dy If
the equation of the curve is written in the form x = f(y). then f(y) =
(0,1) Docidsy) Koot T 2& ¢ HAEBRAD y = erx* dx . & 38 RN 1 =
f(y) ™ o, e f(y) =

Options :

| w log |4y —3|

o F— 1;4
, » (oglay —3D

. (Egg|3—:yDIE4
4, ® log |4}:3|

Question Number : 17 Question Id : 813561657 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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The interval in which v = In(In(x)), x > 1 is decreasing is

x> 1, vy =In(In(x)) D % Dendws 5850 HAoHa0?

Options :

, » (0,2)

Question Number : 18 Question Id : 813561658 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T =20-3] -4k b=1+4]-2k. T=31 -] +4kthen.[Txb b xT Tx7|=

T=20-3] -4k b=14+4]-2k. T=31-] +4kosd [Txb bxT Tx7]=

Question Number : 19 Question Id : 813561659 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Bill and George go target shooting together. Both shoot at a target at the same time. Suppose Bill
hits the target with probability 0.7 where as George. independently. hits the target with probability
0.4. Given that exactly one shot hit the target. what is the probability that it was George's shot?

D& dosw a’fg & BH QPO 28 VP(D) 28 R0000E" Bt k. DO 2,60 U
0.7 moe;uagaé? 08030 2 2,63 o) 0.4 :ooq:vaée:aéf 5ot . 286 ArED OF(
B8RS, ©d a'*g Svd 208 Roerd(d

Options :
2

1.% 3

Question Number : 20 Question Id : 813561660 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

| i i 4
If @, B, y are the roots of f(x) = x® — 9x* + 26x — 24, then; ) E are the roots of
_ i % 3
Flr) =2 9x" + 26r— 24 & B,y Srosoen vad, 20 T -, 2, —e

S0PEFRIT (10 DAIE) BodeC..

Options :
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_— 24x3 + 26x%24+9xv —1

Phoe? = Zlncs b Op—-1

2.¥
3 % 24x% + 26x%2 —9x —1
4 % 24x% —26x% +9x +1

Question Number : 21 Question Id : 813561661 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

sin(m + x) cos (% - .1’) tan (3; - ;x:) cot(2m — x) -

If x # 0, then

sin(2m — x) cos(2m + x) cosec(—x) sin (37}1 + 1‘)

sin(m + x) cos (g ¥ :x:) tan (3; = r) cot(2m — x) |

sin(2m — x) cos(2m + x) cosec(—x) sin (3; + .1’)

x # 0 008,

Options :

1.330
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Question Number : 22 Question Id : 813561662 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2
. o @ .
If the area bounded by the parabola y = 16ax and the line y = 4mx 13 77 54 uits. then

the value of ‘m’ 1s

2

v = 16ax Dod0aAnS y = 4mx ROV LSS50 Baby JTofw % i ore)!
05 AN, ‘M’ Jensd

Options :

1.% —1

Question Number : 23 Question Id : 813561663 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the maximum distance of the point K (10,7) from the circle x? +v? — 4x — 2y —
20=0

o+ y? — 4 — 2y - 20 = 0 5308 K(10,7) Dochasd) Ao o 483 Grdian

Options :

1. % 22

> % 10
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Question Number : 24 Question Id : 813561664 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the quotient of x® — 5x% + 2x + 7 when divided with (x — 1) ?

xP=5x2 4+ 2x +7 20 (x — 1) § 2rhoDIRYE Iy g

Options :
x% +4x—2

’|_ e
Z_4

) % X X ik

3. % X*+4x+2
2

4. X5 —4x —2

Question Number : 25 Question Id : 813561665 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The equation of the line through the mtersection of 3x —4y+1=0and 5x+y—-1=0
which cuts off equal intercepts on the axes 1s given by

3x—4y+1=10 20800 5x+y—1=10 26¥000 Dok Do) Mot T
ArHsTUp AT ©odtnotrud) 666 A6V VRN

Options :

Lo 23x+23y—11=0

, % 23x+23y+11=0
3 % 23x—23y—11=0

4% 23x—23y+11=0

Question Number : 26 Question Id : 813561666 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 2 + 4i 1s one of the roots of x? + bx + c = 0 with b,c € R. then (b,c) =

b,c €ER 208050 x2 +br +c =02 2+ 4i 2& sorosw wowd. (b,c) =

Options :

o (4,-20)

L (4, 20)

o x (54-20)

4 o (4 20)
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Question Number : 27 Question Id : 813561667 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If @. f and y are angles that satisfy the following conditions. find the value of xyz

@, f 200050 ¥ Erre) $08 HALderen DA W0, X7z Dewd
a) tan(a) + tan(B) + tan(y) = tan(a) - tan(f) - tan(y)
b) x = cos(a) + isin(a)
¢) y=cos(f)+isin(f)
d) z=cos(y)+isin(y)
Options :
1. but not —1
| % 1,50 —1 56

—1.butnot 1
~1, D15

Question Number : 28 Question Id : 813561668 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the equation of pair of straight lines that bisect the angles between the lines
represented by ax® + 2hxy + by? = 0.

ax® + 2hxy + by? = 0 2rQod Ea}rcmzriy.a &0 RGN v Roador]

2DEGEAD BVDE.
Options :
x2+y?  xy
x2+y%  xy
9 % a—b h
x2+y2 h
3 % a-b  xy

Question Number : 29 Question Id : 813561669 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two vectors in a plane. Then any vector w in the plane can be written as

W = aut + bv for some scalars ‘a’ and ‘b’ if and only 1f
1,V 20 2,8 SIS Totd DAILD. W & S0 D DB 28 V3. DT BhIW ¢, b
W = aul + by e Fairoed %Sm, DD ALK

Options :
Nomne of 1 and v 1s a scalar multiple of the other
| v U,V 08 D 288 DBAINE TS 8T DRI STHT.
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Nomne of |u| and |v| is a scalar multiple of the other
5 % [, ]v] 065" D 20583 HBMVE 7S 9T DLISHAD STEFPERD.

u and v have different direction

u,ven bzﬁéﬂlcsé e DO
3. %

1 and v are perpendicular to each other

4w UV WETIEEL Do)V Sotd

Question Number : 30 Question Id : 813561670 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let M and N be two mvertible square matrices over R of order 2 such that N 1s diagonal.
Then MNM ™! is diagonal

M 58050 N e 2 X 2 660 D" do0e $9A% ardgen. 9060 N a8 D6 aras
SN MNM ™ D56 798 o) o BYywe

Options :
For all M
- M DERD SIS oD E;ﬁ;ﬁr;‘.oz}m

Only when M is a scalar matrix
. M Rogz DTSS0I SS0

For all diagonal matrices M
_— M ey ::Jsg G VO[O

4. %
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M must be a null matrix
M 3386 S5°dyS 0NJROIDNED

Question Number : 31 Question Id : 813561671 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

j sin®(x) + cos®(x) o

sin®(x) - cos?(x) §

Options :

1 ¢ sec(x) — cosec(x) + ¢

5 % tan(x) + cot(x) + ¢

3 % cosec(x) — cot(x) + ¢

4 % tan(x) —cot(x) + ¢

Question Number : 32 Question Id : 813561672 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

& B
y+e’ d;
) 5 e E}Tﬂ? . then - =
dx
S
y+e}r+€y ay
X —ie 0. —— =
dx
Options:
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14x

T4

Question Number : 33 Question Id : 813561673 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ifa and b are unit vectors such that @ + b is also a unit vector. then the angle between @

and b 13

T b ohrdS H8%09 T + b £re ohrdS H6% eond T 208w b © 068 Socn =

Options :
1. % 60°

, % 90°
3 % 30°

4 o 120°
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Question Number : 34 Question Id : 813561674 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

dy —¥

If v = Cosec™*(x) and = : . then
dx |x|vax® -1

— dy =i
y = Cosec™ ~(x) 20dosw — .-

€900,

Options:

Question Number : 35 Question Id : 813561675 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Angle between the lines of intersection of the planes x —y =0, 2x+y+z=0and
2~5=0, x+y-3z=101

x=y=0,2x+y+2z=080200 &I B 2x—2z=0, x +y -3z =0 dodeo
Do TSy e S

Options :
1 % 60°
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, % 45°

3 % 30°

4 v 90°

Question Number : 36 Question Id : 813561676 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let O denote the origin. If M(1,2). N(0,1) and A(x,y) are points such that xy > 0 and x +
y < 1. then choose the correct statement.

0 Sorodotdy). M(1,2). N(0,1) Soboiw A(x, y) Dotoahosd xy > 0 odofw x +y < 1
90008, $06 DIBTOS B AuAw?
Options :

A cannot lie inside AOMN
« AOMN 5" A &odicd

A lies inside AOMN
5> % AOMN &5° A &od

A lies only in the first quadrant
, A D0 F50ed” AFHDD God

A lies mside AOMN or in the third quadrant
» AOMN 5’ A God T PGS DS’ A God

Question Number : 37 Question Id : 813561677 Question Type : MCQ Display Question
AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The centre of a circle 15 (2, —3) and the circumference 1s 107, Then its equation is

Sogan (2,—3) 005D 3008 107 Be 538 HEGeAD

Options :
2 +yi+4x+6y+12=0

1. %

, x X Hy —dx+6y+12=0

3 2 +yi—4x+6y—12=0

4% Xty —A4x—6y—12=0

Question Number : 38 Question Id : 813561678 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

a*—1
lim

x—0 sin{x] B

Options :

1. ¢ lc’g(ﬁ)

= Taea)
—log(a
2. %
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Question Number : 39 Question Id : 813561679 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

N 6(n—-1)(n=2)- n-2020)42n343n%4n
Let P(n): 12422432 4= Lt : : , for

all n € N. Then which of the following is correct?

6(n—1)(n—2)-(n—2020)+2n%+3n+n

P(n): 12422432+ tnl= ; YneNn,
900 & $08 T DO dwAw?
Options :

P(n)is true foralln EN

| % P(n) das50VnEN

P(n)is true forall n = 2020
- P(n) QasoVn = 2020

P(n)is true forall n < 2020
3 @ Pn)dasw Va = 2020

P(n)is not true foranyn € N

4 % P(n)dasvs@VneEN

Question Number : 40 Question Id : 813561680 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If "P, =1680.thenn =
"P, = 1680 ©ond. n =

Options :

1.% 6
. 12

3 % 10

Question Number : 41 Question Id : 813561681 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let w=-2i+2j + k and v =1 —2] + 2 k. Then angle betweenw and 7'is

W=-2042) 4 kadaty 7'=1 -2 +2k wod, ¥ 200050 70 k| S

Options :
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Question Number : 42 Question Id : 813561682 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

dy

3 2
; _ . . < ay
Find the sum of the order and degree of the differential equation y = x (d,_) e
X

dx?

3 2
d d
y=x (d—D + d—; 0350 AEBRAD o), D07 dakn Sdfidow Awdan =

Options :
2

9 |

4, #

Question Number : 43 Question Id : 813561683 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If a random variable X takes the values x;,x,, X3, ... ... X190 With probability P(X = x,) =
Ki(i+1).then 200K =

X Oiftﬁa!:)bg WUU"‘? X1, X9, X3, e Xqpp :J?.Daﬁ?)r\‘l) émgmm P(X = Xi'} =K 1([ + .l.)
ﬁo&?b}gém gdAcivod A, 200K =

Options :
1

1. % 1707
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Question Number : 44 Question Id : 813561684 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

4039
2020"

o - af (T =
If f:R — R is defined as f(x) = 2020% + V2020 S EER, The”Z 2f(4949)

=1

4039

2020%
¥ x € R, 1T Q6Dotseadd Z 2f (
=1

2020% ++2020

) r
f:Rﬁer(-r): M)=

Options :
1% 4040

, 4039

5 % 2020

4 % 1010

Question Number : 45 Question Id : 813561685 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a right-angled triangle having the lengths of two sides as 2v/2 and 5, find the length of the third side.

28 LotE it GZoRANS" ot ZBd0w Teden 212, 5 wand Jares fadw Té) dvaed.

Options :

4. % V 13

Question Number : 46 Question Id : 813561686 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficients of 5% in (1 + )™ (1 — x + x2)* is

(1 4+ 0101 — x + xH)M% &° x50 g

Options :

1.331

2 % —1
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Question Number : 47 Question Id : 813561687 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

lH‘lE
r+1 n—r+1
H = .then m =

n+i m
e

H+IC
r+1 n—r+1

== 0. T =
n-l-l[-: m
i

Options :

1. T

Question Number : 48 Question Id : 813561688 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The Parabola with directrix x + 2y — 1 = 0 and focus (1,0) 1s

(1,0) =drradr. x + 2y — 1 = 0 QoDhStmrar (o Dordecisow
Options :

: o —dxy+y*—8x+4y+4=0
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- 4x* +4xy +y* —8x +4y+4=0
P HAxy+y*+8x—4y+4=0

) w 4x* —4xy+y* —8x—4y+4=0

Question Number : 49 Question Id : 813561689 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 15 the formula for finding co-efficient of variation. given ¢ = standard deviation and
X =mean # 07

DOVT 080 SN L ATGaW ('9&%6‘. 0 = FATHS Jdvdoe Bodw
¥ = ?3053}&55530 +0)
Options :

x 100

a | x a | =

M

x 100

5¢||'~'-‘|

Question Number : 50 Question Id : 813561690 Question Type : MCQ Display Question
AP EAMCET 2020



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

; (23;1) t(ﬁ l3r{)_
an 3 co 3 )~

Options :

V3 —tan (% + H)

3 % V3 +tan 8
= T
V34 cot([——86
 Eran(Z-0)

Question Number : 51 Question Id : 813561691 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

'n_ . ' v . . - .
If "C,. denotes the number of combinations of “n” things taken ‘r” at a time, then the

expression nC?_H + HC?,_l + ZRCT equals

n(,"?, 9008 N’ SRHL Do) 1T SRV WDy BRE0E D0y DoAY R0

o s, 1 n ATl .
ard, €.+ C_ +27°C =

Options :

+2
T CT

n+26

2 r+1
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n+1C 1

n+1 -~
(“'r—i-l

Question Number : 52 Question Id : 813561692 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

224+ 4% 6%+ +(2n)?
lim 3 =
n—co n

Options:
2

1.8 3

4
3

mlr..u

-m]lCCl

4. ®

Question Number : 53 Question Id : 813561693 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the degree of the differential equation yng 24 3y, +y, =0.

T 2.'23 g T o e o s w
v, 74243y, +y, =0 03508 DB SRS BLVDHAW.

Options :

Question Number : 54 Question Id : 813561694 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

P 2
g Ky : ; ks : :
For the ellipse B 4 P 1. if a tangent with slope = intersects the major and minor axes at

P and () respectively. find P and Q

2 2

X y —4 ” o

e 8g,58 7 T R 28 0y6\6 STy B0k IR P 2ok
Q Do’ Dol 8 P, ) Dotoen AR

Options :

.+ P(6,0), Q(0,8)
, « P(0,6), Q(8,0)

5 % P(3v2,0), 9(0,4v2)
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4 » P(0,3v2), Q(4v2,0)

Question Number : 55 Question Id : 813561695 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The mean of 5 observations 1s 15 and variance 1s 9. If two observations having values
—5 and 13 are combined with these observations. then what will be the new variance?

5 HBFVT 032N AL GEFoFANIL ATHB Dewd 15 Ldaky Dd 9. & GTroTAS
—5, 13 090 Botd) 00T0R) B0y, AT (gredin a0g) DS Aedockddn.

Options :
6259

1. % ¥

6259

2659

2659

4.« 49

Question Number : 56 Question Id : 813561696 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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It r = mradivus, A= Area of AABC. s = semi-perimeter then which of the following is true?

ABC 970308 1 = ©9od6,90 a“é&)“gan, A= gaba progan, 5 = ©f tot0SVS R,

& o8 )¢5 DA ﬁéﬁ;ﬁn.
Options :
"
B
2. % o
.
3 % A= (rs)
4_@{,&:?3

Question Number : 57 Question Id : 813561697 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Maximum area of the rectangle that can be formed with the fixed perimeter ‘p” em

2" em otnSod o SguddTod” (188 DT o Aol DTV

Options :

P 2
1.% 8

- Cin
2.« 16

— cm
3. % °©

AP EAMCET 2020



AP EAMCET 2020

T i
4. %

Question Number : 58 Question Id : 813561698 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let a,b € R — {0}, and I, be the identity matrix of order 2. Then the rank of the (block)
al, }11’2]

al, bL|"®

matrix [
a,b e %‘J"FSIS@CS TRD Vo Bk I a0 25 601D CrAE Srds Ba,

{;Urz b[z
(11’2 b[z

] awe), £8 dudoed.

Options :

5
1.4 =

r_J,_:

Question Number : 59 Question Id : 813561699 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If y = V3x + ky and v = /3x + k; are two parallel tangents of a circle of radius 2 units.

then |ky — k5| 15 equal to

2 o den auéavgam (0 2,8 S8 y = V3x + ky 0805 y = 3x + ky e Botd

RET0d0 20 G0 o [ky — kyf =

Options :

1% 1

Question Number : 60 Question Id : 813561700 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
Letu =1 —2j andv =—37 +5] . Consider three points P, Q and R having
s -1 -1= o . T
position vectors = L and —21i + 3 respectively. Among these, the points in

the line segment passing through u and v are
W=1-2].7=-31+5] P,Q,R oo I vbéen daorr —=1,-=7 .
—21 +3] w0 7,7 0 & gen) 52 Dot D6 2 Dot & DD Ao,

Options :
Only P and @
| P &08aodw @ Srda
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Only P and R
P 208030 R &07g

Only Q and R
3 % Q S0basw R Srday

all P,Q and R

, x PO R

Question Number : 61 Question Id : 813561701 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

J dx B
cos?(x) + sin(2x)
Options :

1 .
= log |14+ 2cos(x)| + ¢

1. %

1 .
= log |1 — 2tan(x)] + ¢

1
—log |1+ 2tan(x)| + ¢
3.4 2

1 :
= log |1 + 2cot(x)| + ¢

Question Number : 62 Question Id : 813561702 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equation of circle having normals (x — 1)(v — 2) = 0 and a tangent 3x + 4y =67

3x+4y=06 ‘é:bdgéa:méy (x—1)(y-2)=0 edeot) Bneomadr v HRDEBEAD

Options :

L o@D+ (-2 =1

, » @=Ly —1)r=1
- (x+1)2+(y+2)?%=1

e @2+ G+ =1

Question Number : 63 Question Id : 813561703 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines 3x + y—2 = 0. px 4+ 2y — 3 = 0 and 2x — y — 3 = 0 are concurrent, then p =

3x+y—-2=0, px+2y-3=0, 2x—y—3 =0, 00 VE¥0DL DNTW ond, p =

Options :

1. % —D

2.¢ O

4. % —3
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Question Number : 64 Question Id : 813561704 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A circle passes through the centre of another circle x> + y? = 3x —4y —1 =0 and
whose centre is (5,2). Then the equation of this circle is

xf 4+ yE = 3x — 4y — 1 =0 5880850 ot T'ér (5,2) So@anrmr e 5y
HAECRAD BLLNAD.

Options :

v 4x% 4+ 4y? —40x — 16y 4+ 67 =0

, % 3x2 +3y2 —40x — 16y + 67 =0

- 2x%2 4+ 2y%2 —40x — 16y + 67 =0

4% X2 +y?—10x—4y+67 =0

Question Number : 65 Question Id : 813561705 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If 2f(sinx) + f(cosx) = x then f'(x) =

2f(sinx) + f(cosx) = x @0 f'(x) =

Options :
1

1. "\."1_3('2
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Question Number : 66 Question Id : 813561706 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Reduction of proper fraction M mto a sum of partial fraction depends up on factorization

g(x)
of
% gme:}almm Jés ei}::;l;mu 20B200MT TrODEW ) SPEEPos e
gix
DZLOIEAND BETEIEIR0
Options :

f(x) alone

- f(x) Sorgdo

g(x) alone
5 v () Qg

both f(x) and g(x)

- f(x) 208050 g(x) 0 BolotD
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factors of f(x) and g(x)
4w f(x) Sodasn g(x) © s*EFos~uA

Question Number : 67 Question Id : 813561707 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

loge 729  log; 5
log: 27  logg 25

logs 5 log,; 5] .

The value of foeti fsmiiy 15

log: 729 log; 5
log: 27  logg 25

logz; 5 log,- 5

log:9 log: 9 i

Options :

3 % log: 9

4o (logs 5) x (log: 81)

Question Number : 68 Question Id : 813561708 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the chord of contact of tangents from a pomt A to a given circle passes through B. then the
circle with AB as a diameter will

8 320 G A Dotdos )6, B Dotoid) tbow I8, AB arffosurr o g
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Options :
Touch the given circle internally

QR 5T WodGolT R, TR0

Cut the given circle orthogonally

5 @ BN HyT"V) VorITT Do

Touch the given circle externally

TN T eI D F0eB

Neither intersect nor touch the given circle

. ’&a&é Sﬁag":}l ﬁm’?cﬁm, Mol otdithd
4,

Question Number : 69 Question Id : 813561709 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) =e*; g(x)=In(x) forall x € [1,20). then fog is

[1,00) e90d6a10e5° f(x) = e*; g(x) = In(x) eond, fog

Options :
A one-one function

1% 2,5 9_9;555;‘.113

An on-to function

5 % 28 RofRa0

Not a function

3 % Do0oDHAL S
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Bijective

A HVAREL
4. g

Question Number : 70 Question Id : 813561710 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The direction cosines of the vectora = —2i + j — 5 k are

@ =-214 ] —5k26% wws), 65 Epoen

Options :
e X =2
% V8'v8'48

|
£
w‘[b—*
=
-
(%]
=)

Question Number : 71 Question Id : 813561711 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

(x +1)2 Iy —
J_r(_xz +1) * T

Options:
AP EAMCET 2020



AP EAMCET 2020

- log [x(x®2 +1)] 4+ ¢

5 % log |x| + ¢

: e g
3 v log |x] + 2Tan *(x) + ¢

4% 2log |x| + Tan 1(x) + ¢

Question Number : 72 Question Id : 813561712 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The locus of a pomt P such that PA + PB = 4 where A(2,3,4),B(-2,3,4) is
A(2,3,4),B(-2,3,4) Docopwo PA+ PB =4 b 50oB P Dotdd) Dotddawn
Options:

J;2+Ez+6j-’+83+25:[}

- y2—z2+6y+8z—25=0

v 422 6y —8z+25=0
v - ;

4w vi+zP—6y—8z—25=0

Question Number : 73 Question Id : 813561713 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If (2+1)isaroot of the equation x® — 5x% + 9x — 5 = 0. then the other roots are

2 =5x2 49 —5=0% (2+1) rosn ewond DADH Jrednen Suo)dw.
Options :

1land (2 —i)
1 ¢ 1 SoBaiw (2 — i)

—1and (3 +1i)

L —1 308050 (3 +1)

0and 1
3 % 0 S0dosw 1

—land (-2 +1i)

, w —L0Ba (—2+1)

Question Number : 74 Question Id : 813561714 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The locus of the point whose ratio of distance from the origin to its distance from (-2, —3)
is 5 ¢ 7. 1s given by

QPO BAN (-2, —3) VoY dw Aroe Apd 5:7, woi:}geag.p 8ot
Dotired) o), Dotuies PedECe
Options:

v 24(x% + y?) — 100x — 150y — 325 =0

, % 240x*+y?) +100x + 150y — 325 =0
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- 24(x% + y*) — 100x + 150y + 325 =0

4 % 2x% +2y% =325

Question Number : 75 Question Id : 813561715 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The possible value of sin®(8) + cos®(8) — 3 cos*(8) is

sin®(8) + cos®(8) — 3 cos*(8) 5“@5;‘36'1 Ded

Options :

1.532

Question Number : 76 Question Id : 813561716 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In AABC. £A = 90° and co-ordinates of points B and C are (2,—4) and (1,5). Then the
equation of the circumeircle of AABC 15

AABC & £A = 90° 20800 B, € Dockodywn S&Rm (2,—4) 0050 (1,5) waws, AABC
g, HOS)8 LT

Options:
AP EAMCET 2020
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>+ y*+3x+y+18=0

, x X +y =3x+y—-18=0

3 2 4+y*—3x—y—18=10

4 % x> +y2+3x—y+18=0

Question Number : 77 Question Id : 813561717 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the pair of straight line given by Ax? + 2Hxy + By? = 0. where (H% > AB). forms an
equilateral friangle with the line ax + by + ¢ = 0.then (A + 3B)(34 + B) =

Ax? + 2Hxy + By® = 0 %0vBarosnrf, 208 (wcsye (H > AB) 208050 ax + by + ¢ =
0 DO¥0R 28 RVEFTV GFY) D6\ER, B\ (4 +3B)(34 +B) =

Options :
v 4H°

, x 2H?

3 % —2H?

4 % —4H?

Question Number : 78 Question Id : 813561718 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

4

J tan’(x) dx =
0

Options :
T
1.% 4
K3
SR |
2.% 4
l—_
3. ¢ 4
4% Y

Question Number : 79 Question Id : 813561719 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the equation x2 + 2v/2xy + 2v% 4 4x + 42y + 1 = 0 represents a pair of straight lines
which are parallel to each other. find the distance between them is

x2 4 2V2xy 4 252 + 4x + 42y + 1 = 0 208080 28 DTS Barasom) ) AT,
&3 O 2065 Arga Joch?
Options :

4 units

1% 4 Qi dLw

2 units

5 @ 2 ojmhgp
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2+/3 units

3 % 2V 3 odarQew

4+/3 units
4+/3 aharDen
4. % =

Question Number : 80 Question Id : 813561720 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

P 1 R — 300
(—i +v3)  +(—i- ’v‘g) =
Options :
300
1. % 2
5301
2.9 z
100
3. % 2
300
4 % 2
Physics
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
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Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 81 Question Id : 813561721 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The S.1. unit of length is “meter”. Suppose we adopt a new unit of length which equals x

meter. Then, the area of 1 m® expressed in terms of new unit has a magnitude

Fec) 08 S.1 HATERAD M. 26DY TEDHD 28 §8 HATRIWT ¥ DOCT

SR8 0w, e 1m” pFege £ parmos’ HBArno Jod?

Options:

Question Number : 82 Question Id : 813561722 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The central fringe in the mterference pattern obtained in Young's double slit experiment will
be a dark fringe when the phase difference between the waves from the two slits is

300 200 BS HATFANS' D6\ER )OS0 JFfrans’ oot 98 VS D TITII).
5 Bot DEL Kol 3y B6ere) 06 G0t 0NN GTHEAW dodd?

Options :

1.% 0

T
2

Question Number : 83 Question Id : 813561723 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two balls X (2 kg) and ¥ (4 kg) approach each other with equal speeds of 10 m.s™>. If the
collision is perfectly elastic. the new velocities of X and ¥ balls are respectively

B0 08000 X (2 kg) 08050 ¥ (4 kg) 260D 3% 288 10m.s7! daddd
mbh@mlw. T 206 DOQPY fg@g“bs DI 2000 ST X,V wodow

ST SEAT™ ,
Options:
50 —10
— m.s7!, — m.s7!
1. % 3 3
2. %
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—~5i) —10

— m.s!, — m.s1
3 3
—50 10
— m.s . —m.st
3.
50 _ 10 -
— ms . —ms?
4. % 3

Question Number : 84 Question Id : 813561724 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The moment of inertia of a rectangular plate of mass M. length L and breadth B. about an axis
passing through its centre and perpendicular to its plane 1s

Sogo ot o $erdS LoweT &8 Lo M &3, L T, B dcevy o 68
SACTECY DOE BEA] TS0 Dedd

Options :
M(L+E)
1. ® 12

M(L?)
¢ 12

M(L*+B?)

M(B?)
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Question Number : 85 Question Id : 813561725 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A train of 150 m length is going towards north direction at a speed of 10 m. s 1. A parrot
flies at the speed of 5 m. s ™" towards south direction parallel to the railway track. The time
for which the parrot flies alongside the train is

150 m © Terio 28 Joo 68668 2 10m.s™ S48 Hoirdivd) 8. & Jev 2ro-d8
RATIEANT GLEPAS D) w8 Deos 5 m.s™! HAS I & 08w, o
Qes Gy S dod S0 H?

Options :
1 = 12s

3 10 s

4 % 28

Question Number : 86 Question Id : 813561726 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two identical thin bar magnets. each of length ‘I" and pole strength ‘m’. are placed at right
angle to each other with nort